156

ITEM NO.

OCoO~NOO OO WN -

NN MNNDNAA A A A A A A A
AP OWON_2OCOO~NOOOTPAWN—O

< ([ mS»

National 1.800.433.5613 « Within Texas 1-800-792-1011

CROSSING ARMS
6-SERIES SOLID-STATE ELECTRIC

SMI P/N QTY. DESCRIPTION

068101 1 Base, Painted with Studs

006120 1 Control Module

006154 1 Modular Clip

006128 1 Gasket, Lid

005057 1 Hinge Pin

005014 1 Electric Motor

005065 1 V-Seal

000608 2 Screw, #8 Mach

000609 2 Nut, #8-32 thin nylon insert

006118 1 Clutch/Vane Assembly

000143 2 Nut, 74-20 Hex SS

000148 2 Washer, V42" Split SS

000147 2 Washer, V4" Flat

005168 1 Hinge Bracket - Painted

005122 2 Nut 72-20, Whiz

006144 2 Gasket

006123-10 2 Bushing

006014 2 Seal, Buna

006137 4 Screw, #10-32 x 5/8” FH

006119-1 1 Harness, 6-Series X/A

003027 1 Grommet

068125 1 Cover

006138 4 Screw, #10-32 x 1/2” Hex Hd

004048 1 Nut, #10-32 Nylon Lock
Replacement Parts Not Shown

000104 4 Washer, 2" Nylon Flat

000142 4 Nylon Locknut

006122 1 Clutch Driver Assembly

© 2009 Bucks Wheel & Equipment



National 1.800.433.5613 + Within Texas 1-800-792-1011

CROSSING ARMS
6-SERIES SOLID-STATE ELECTRIC

&0,
- %g,

© 2009 Bucks Wheel & Equipment 157



	Next Page/Spread: 
	One Page View: 
	Two Page View: 
	Previous Page/Spread: 


